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[All questions are compulsory. Every question is written first in English and then in Bengali.
Answer (Ans:) is written there after where you have to write the answer. Calculator is not allowed. ]
[Calculation sheets supplied by the centre must be attached with this answer paper]

GROUP -A 12x2=24
[Each question has four answers of which one is correct. UNDERLINE the correct answer. 1/2 mark
will be deducted for each wrong marking. Cancellation or over writing is not allowed]

3
1: The Perimeter of a Rectangle is 13 m and its length is 32 m. Its width (in metre) is

fd wireTHRGE ARG 13 e 0 32 122 arg (RBC) 2 —

@ 25 Ok ©2 = @3

Z, The measures of two ad;acent angles of a Parallelogram are in the ratio 3 : 2; the
measure of each of these angles are

<D AR SRS (el 73 e 3 - 2 © Gl oA 2o —.

(a) 108°, 72° (b) 90°, 60° (c) 1209, 60° (d) 100°, 80°
3. The greatest 4 digit perfect square number is
519 SIEd 3267 7 IRt 7o — _
(a) 9000 (b) 9801 (c) 9900 (d) 9981
4. Which of the following is not a rational numpgr'? e
ewa S viem% IEW W2
15 :
@l s s (© 5 (d) 0
G
5 If AB Il DC, then value of x is -
50
I AB Il DC T, OIZ(& x 3 W T6] —
A /)60 B
(a) 60° (b) 90° (c) 80° (d) 120°
6. If a polyhedron has 8 faces and 12 edges then the number of vertices will be equal to
o qeeeced 8 5 wel ¥k 12 b 413 UeTe o AR A 29 — :
(a) 10 = (b)8 ()6 (d)4 -
7. When the sides of- a'triangle are doubled its area

i fagrer qreslm o fRed =1 20 @3 crezE —
(a) remains the same (432 AFA) (b) becomes double (fa&< 23)

(c) becomes 3 times (3 &4 2(X) (d) bécomes 4 times (4 &9 23)
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The number which is not divisible by 11 is

@ #nfo 11 faca [Reren =1 Gil 21 —

(a) 7351762 (b) 909260 (c) 2450917 (d) 2472525
Which of the following is greater ?

HA AT 3T ?

(@) 2° (b) 3 ()1 (@) (+2)

Cofficient of the sum of terms 7x, —80x and 60x is
7x, —=80x '8 60x UF AR 774 To1 —

(@) -13 (b) 13" (c) 147 (d) =147
M= cm?

11 = v @’

(a) 100 (b) 1000 (c) 10000 (d) 100000
A'l'-n'o'ng the foliowing the true statement is

Mve @ [ Aldw ot 781 —

(a) Every rhombus is a square (2 725 <& I5fC=wa)
(b) All rectangles are parallelogram (3% SITOLHA2 FAEES)

(c) Every trapezium is a parallelogram (2f&% Gifsifers @t sis)
(d) Every parallelogram is a trapezium (2 ABRT @b Gifsifems)

GROUP-B
[Write the answer only at the proper place] 12x2=24

The radii of two cylinders are in the ratio 2 : 3 and their heights are in the rat|0 of 5: 3.
Find the ratio of their volumes.
w3 (BITE WIAITH TS 2 : 3 3R THOIA TS 5 : 3 | T2NHA TASTA SFATS ferefar 32 |

Ans :

3
On adding — 7 to twice a number we get 2. What is the number ?

'Faﬁﬂ\?ﬁﬁ%@tﬂﬂﬁs IS TACE SNl 2 A | HeLi e 0

Ans :
Simplify : 2" x 4" x 8'-"
AT BT 52" x 4" x 8"
Ans :

Factorise : x2 + 4x + 4 — b?
TV R Fa e x2 + dx + 4 — b2

Ans :

Find the value of m and n. 2 m n

m 8 n 99 Tid (99 9 | X n
3 n 9

Ans :

Monoj types 540 words during half an hour. How many words would he type is 6 minutes ?
TS LB 540 6 =% 527 FIC0 #1071 6 FWCE 7 30 *1 O I 2
Ans : '

If 3(2 — x) = 4(5x + 6) + 9 (3x — 4) — 32, then find the value of x.
MW 3(2 - x) = 4(5x + 6) + 9 (3x — 4) — 32 T, O[T x G WA Ffa T30 |

Ans :
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Find the missing number in the given numbe'r pattern.

ey N (A e i @R
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By selling a mobile for Rs.3920, Sunil makes a profit of 22.5%. Find the amount of profit
earned by him.

3920 S @b maﬁaﬁ%wqﬁﬁzz S%WWMWWWW s
Ans :

Simplify : W-M

A 4 2 64a° —Y8a°

Ans :

The sum of two numbers is 4 and their product is also 4. What is the sum of their squares?

7315 MR A 4 3¢ TRCAE QT € 4 | TGO Ao 7R 79 7

Ans :

Ans :

3 men or 5 women can do a work in 12 days. How long will 6 men and 5 women take to do
it ?

3 G 278 1 5 & TZel GG e 12 Tl FA0© ST | 6 T 7 6 5 T WfzeH Fofuia @
JEH FACS ARI?
Ans : :

GROUP - C

[Important steps of calculation, Statements and proof whereever necessary are to be given]

25.

3x4=12
If 2x + 3y = 14 and 2x — 3y = 2, find the value of xy.

W 2x + 3y = 14 € 2x — 3y = 2 T, OIZLA xy GF T+ (43 37|
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26. On dividing 2272 as well as 875 by a 3 digit number N, leaves the same remainder.

Fmd the sum of the digits of N.

WW &3 A2 N g 2272 @ 875 @s@rﬂwaﬁ@ﬂm?fmﬂ N G2 IEsfEm
wﬁmaﬁl

27.  Find the area of the adjacent figure. -
AR Baba crawe [ 311

20cm

80cm




